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Solving Sequence

’

A knot d1agranl C5 Cl2 C Ci1 €4 €1 Cio C7  C3
Ideals for irreducible component#ﬂ)f Xpar

=W —u® 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 34 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIF=(u*—u®¥+... —u—1)

(i) Arc colorings

0
a2 = \u
1
ag = U2
—u
ar = \—ud+u
—u? 41
ar = \ —yt + 22
U
ail = \u
—u?+1
a4 = _u2
w’ — 4u® + 4ud — 2u
az = uw —3ud +u
—u" 4 4u® — 4ud + 2u
a10 = \ —u? + 5u” — Tu® 4+ 2u + u
—ut? + 7ut0 — 1708 + 18u8 — 10u* +u? + 1
ag = \ —y 4 8u!2 — 2310 + 2848 — 1218 — 2u* + 3u?
—u? +17u?0 4 -+ 3u? + 1
az = \ —u30 + 18u% + .- + 12u* — u?
u? — 140 + - — 1203 + 2u
ag = u?® — 13 + -+ 6u 4 u
(ii) Obstruction class = —1

(iii) Cusp Shapes

= 4430 — T6u® + 632126 — 4u?® — 3020u2* + 64u?3 + 9160u?2 — 43612 — 18396u2° +
1648u™® + 247244 — 3780u'” — 21696w'0 + 54124 + 11000u'* — 4760w — 1160u'2 +
2280u'! — 234400 — 168u” + 1456u® — 42447 — 192u® + 192u° — 112u* + 32u? — 16u — 6



(iv) u-Polynomials at the component

rossings u-Polynomials at each crossin,
C Poly Is at h
c1,C7,C10 w—5u o = 3Tu+ 11
C2,C3,C8 U34+U33+"'_U_1
Co
C4,Cs5, Ce u34_u33+_,__u_1
C11,C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7,C10 3429938 o — 1171y + 121
€2,€3,C8 v 3B 4 By 41
cy
C4,C5,Cg y34—43y33+~-~+5y+1
C11,C12




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = —0.991821 4 0.1580951

—10.68960 + 3.151831

—14.0763 — 3.97241

u = —0.991821 — 0.1580951

—10.68960 — 3.151831

—14.0763 4 3.97241

u = —0.893573 4 0.3965041

—4.49049 + 8.329951

—9.15739 — 6.659481

u = —0.893573 — 0.3965041

—4.49049 — 8.329951

—9.15739 + 6.659481

u=0.859035 + 0.3936751

2.35629 — 5.470471

—5.42904 + 7.394881

u= 0.859035 — 0.3936751

2.35629 + 5.470471

—5.42904 — 7.394881

u = —0.818764 + 0.3928871

2.60490 + 1.310901

—4.52445 — 0.972941

u = —0.818764 — 0.3928871

2.60490 — 1.310901

—4.52445 4 0.972941

= 0.893463 + 0.1300441

—3.31682 — 2.127211

—12.9145 + 6.34161

u = 0.893463 — 0.1300441

—3.31682 + 2.127211

—12.9145 — 6.34161

= 0.766255 + 0.4033911

—3.72832 4 1.462351

—8.04381 + 1.154271

u= 0.766255 — 0.4033911

—3.72832 — 1.462351

—8.04381 — 1.154271

u = —0.769926

—1.46282

—5.15730

u = 0.058238 + 0.6155681

—1.59411 — 4.911551

—4.11375 4 3.545261

u = 0.058238 — 0.6155681

—1.59411 4 4.911551

—4.11375 — 3.545261

u = —0.019163 + 0.6094311

5.01871 4 2.080231

—0.25628 — 3.523951

u = —0.019163 — 0.6094311

5.01871 — 2.080231

—0.25628 + 3.523951

u = 0.311005 4 0.3964511

—6.63940 — 1.355071

—7.90199 + 4.632311

u = 0.311005 — 0.3964511

—6.63940 + 1.355071

—7.90199 — 4.632311

u = —1.63888 + 0.084431 —12.00830 + 0.259701 0
u = —1.63888 — 0.084431 —12.00830 — 0.259701 0
u= 1.65843 + 0.094301 —5.99222 — 3.108661 0
u= 1.65843 — 0.094301 —5.99222 4 3.108661 0
u= 1.66496 —10.1351 0
u = —1.67097 4+ 0.100381 —6.45085 +- 7.345041 0
u = —1.67097 — 0.100381 —6.45085 — 7.345041 0

u = —0.165695 + 0.2728691

—0.148667 + 0.7547201

—4.59527 — 9.111421

u = —0.165695 — 0.2728691

—0.148667 — 0.7547201

—4.59527 + 9.111421

u = —1.68383 + 0.028231

—12.43350 + 2.70866.1

0

u = —1.68383 — 0.028231

—12.43350 — 2.70866.1

0




Solutions to I} V—1(vol ++/=1CS) | Cusp shape
u= 1.68188+ 0.104241 —13.4764 — 10.26611 0
u = 1.68188 —0.104241 —13.4764 4+ 10.26611 0
u = 1.70687 4 0.035731 19.2149 — 3.89371 0
u = 1.70687 — 0.035731 19.2149 + 3.89371 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C7,C10 U3475U33+"'*37U+11
C2,C3,C8 W eB s w1
C9
C4,C5,Cp WP a1
€11, C12




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C7,C10 y34+29y33+~-~ — 1171y + 121
C2,C3,C8 y34+37y33+~--+5y+1
C9
C4,Cs5, Co y34—43y33+~--+5y+1
€11, C12




